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39-They went......39th street and then turned left.
lasfar as 2)till
3)until Aaway

40-Which sentenceis gremmaticaly wrong?
1)One of my classmates was sleepy in the classroom
most of the time
2)She could have solved much more difficult math problems
3)Did you hear her talking to somebody?
4)The boy, behaved too well that everybody admired
him.
41-We............. because we are going on a long Jour ney.
1)get service our car
2)are having our car serviced
3)service our car
4)have our car service
42-Nobody helps my mother with the housework. She
doesit ..........

1)myself 2)by herself

3)ourselves 4)yourself
43-To put into position means:

1)set up 2)set off

3)set aside 4)set free

44-1f you expect children to be polite. You must
......... them up very carefully.

1)grow 2)rise 3)take 4)bring
45-Mary ......... ill today.Tell her she can leave the class
and go home.

1)become 2)gets

3)looks 4)smells
46-The group will be.......... the play in the city theater.

1)performing 2)processing

3)providing 4)producing
47-We....... havetold you alie, but we did.

1)should 2)might

3)shouldn’t 4)could
48-Man naturally hasthe ability to ................. himself to
different and difficult situations.

1)adapt 2)continue

3)force Arealize
49-Shelikes this style of music and other types have no
....... for her

1)operation

2)attraction

3)instruction

4)celebration
50-In Iran, university entrance examination is held
onceayear and......... of many subjects.

1)includes 2)performs

3)consists 4)receives
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